log (L*) CIELAB lightness
log(L*) L*
CIELAB lightness for all colours, L*,=100:
L* =116 ¢/Y,)*°- 16 {,=100, Y > 1)

| _log(L*)=1.69 m=0.43

application
range

1

1Yy=181100

VE610-1N_1
log AY CIE tristimulus value difference
log(AY) AY
L* =116 {/Y,) M3 -1
log(dY)= log( 3 (Yn/lle) ) + (2/3) log{(/Y,)
= log(3(Y, "3/116) + (2/3) logy)

10g(dY)=0.82 m,=0.66

1 application
' range
1Y,=18

VE610-3N_1

log (AY/Y) CIE tristimulus values
log(S;) S=(AYrY)

CIELAB sensitivity:

10g[(AY/Y) = log(3 (v, -/3/116) - (1/3) logy

application
range

L o cmmccmmeeeoS
log[(dYyY]=-1.33 nh\

VE610-5N_1
log (Y/AY) CIE contrast
109(C,) C,=(Y/AY)
log(Y/dY)= log[(1/3) (116¥,)] + (1/3) log(Y/Yy)
= log[(1/3) (116/¢, /)] + (1/3) log(y)
log(Y/dY)=1.33 m,=0.33

application
range

VE610-7N_1
VE610-7N

log (Lt/k* u) CIELAB lightness

ré‘lative normalized CIELAB data
CIELAB lightness for all colours, L*,=100:
L* =116 ¢/Y,) "3~ 16 ¥,=100, Y> 1)

! _logl(LY) /(L )1=0, m;=0.43

: application
) range
1Y,=18

VE610-2N_1

log(AY/AY,) CIE tristimulus difference
INUNA

relative normalized CIELAB data
L* =116 (//Y,) X2 - 16
log(dY) = log( 3 (/,,/116) ) + (2/3) log{/Yy)

= log(3(Y, /3/116) + (2/3) logy)
log[(dYY(dY,)]=0, m,=0.66
: application

) range
1Y,=18

VE610-4N_1

log [(AY/Y) | (AY,/Yy)] CIE values
S/S,=(AYIYIAYTY,)
relative normalized CIELAB sensitivity

1og[(AYV)(AY,/Y,)] = log(YrY,) 2

application
range

logl(dY/YY(dY,/Y)]=0, m,-—o 33.
I

1y,=18 |

VE610-6N_1

log [(Y/AY) I (Y /AY,)] CIE contrast
109(C;)  Ce/Cry=(YIAY)I(Y /AY,)
relative normallzed CIELAB contrast sensitivity
log[(Y/AY)/(Y,/AY,)] = log(Y/Yy)Y®
L* =50, Y,=18, dY,=0.83

application
range

Y,=18

VE610-8N_1

log (L*) LINYAB lightness
log(L*) L* LINYAB lightness for all colours, L*,=100:
L* = 100[1+1/(1 + W (YY) (Y4=100, Y > 1)

ky= 1,0 log(e), W,=1,4
log(L*;)=2.0, m;=0.98 /

application
range

1

1Yu=18100

VE611-1N_1

logAY CIE tristimulus value difference
Iog(AY) AY L* = 100[1+1/(1 + W x°)] %—Y/Y Y,=18, Y>1)
log(dY) = — k Wy/Y[1+Wx"]
ky=1,0 log(e), W,=1,4

SIGH@VEL.7, M =107 ’

: application
1 range
'v,=18 1

VE611-3N_1

log (AY/Y) CIE tristimulus values
log(S)  S=(aY/Y)
LINYAB sensitivity:

log(dY) = — k Wy/Y,[1+W,x] 2 xk~D)
ky= 1,0 log(e), W,p=1,4
10g(dYy) = — k Wa/Y,[1+W,]

VE611-5N_1

log (Y/AY) CIE contrast
log(Cy), Cr=(Y/AY)

log(Y/dY)=1.02 m,=-0.07

1
1
1
log(dY) = — k WolY,[1+W,x 246D
k,= 1,0 log(e), WZ:L4

application
log(dYy) = — k W,/Y,[1+W,]

. range
ly,=18

VE611-7N_1

log (L*/L* ;) LINYAB lightness
L*/L* 4LINYAB lightness for all colours, L*,=100:
L* = 100[1+1/(1 + W (YIYY)] (Y,=100, Y > 1
ky=1,0 log(e), W,=1,4

1
1
r

1 application
' range
1Y, =18100

VE611-2N_1

log(AY/AY,) CIE tnstlmulus difference
AYIAY,, L* =100[1+1/(1+W5 x¥)], (x= YIY Y,=18,Y>1)
log(dY) = — k WY [1+W,x"]™ 2,6
ky= 1,0 log(e), W,=1,4
log(dYy) = — k WalY,[1+W,] 2

log[(dYY(dY,)]=0, m,=1.07

: application
y  range
1Y, =180

VE611-4N_1

log [(AY1Y) | (AY,/Yy)] CIE values
S/Su=(AYIYIAYTY,)
relative normalized LINYAB sensitivity
log(dY) = — k WY [1+W,x¥] 2 X&)
ki=1,0 log(e), W,=1,4
log(dYy) = — k W,/Y, [1+W,]

ication
range

= IO /7YY, Y ]=0 My =0T T

VE611-6N_1

log [(Y/AY) I (Y,/AY,)] CIE contrast
109(C;)  C/Cry=(YIAY)I(Y /AY,)

logl(Y/dY)(Yy/dY,)]=0, my=-0.0r _

relative normalized LINYAB cofitrast sensitivity
log(dY) = — k Wi/ Y, [1:+Wx*] 2k
k= 1,0 log(e), W,=1,4

_»2 "application
log(dYy) = = k W,/Y,[1+W,] range

VE611-8N_1



